S

E[V/m] 2

A,B

A
S[m*]
B 2
d[m] VIV]
Q=Cv
C= LE
4pk d
v

[F]



CLF] f[Hz] E[V]
1721t fC
1721t fC



LCR-6

20910505
1KHz

FG-330

22275066
0.1Hz 1MHz

SS-5703

22274490
DC-20MHz



(KHZ V) (Vc/3)
1 2.75 0.917 0.892
15 26 0.867 0.796
2 23 0.767 0.702
25 2 0.667 0.619
3 19 0.633 0.549
35 17 0.567 0.491
4 155 0.517 0.442
45 14 0.467 0.401
5 13 0.433 0.367
55 12 0.400 0.337
6 11 0.367 0.312
65 1 0.333 0.290
7 0.95 0.317 0.271
3
25
> 27
15 |
1 L
05 -
0
0 2 4 6 8
(KHz)
LCR C
[Q]
LCR [Q]

tand [Q]



(Cx) 1.15*10°[F]
(Rc) 89.56[Q ]

(Cx) 5.95*10°[F]
(Rc) 90.56[Q ]

1.5[KHz]
1.9[KHz]

177[nF]
134.6[nF]



V)

V)

0.5 /oct



Ke*E0*S/d=1.15*10"°
Ke=1.000536 E0=8.854*10™" S=0.125
d=(1.000536*8.854*10"**0.125)/ 1.15*10°®
d=9.63*10"°

c1 c2
Cx=C1C2/(C1+C2)
c2
C2=CxC1/(C1-Cx)
Cx=1.15*10"
C2=1.15*%10*14.0%10/{(14.0-1.15)}* 10°=1.25*10°

d=(1.000536*8.854*10**0.125)/ 1.25*10°®

d=8.85*10°
88.5u

1KHz



